L

HAMMOND
MANUEACTURING..

Quality Products. Service Excellence.

Grid System HMEGS series

WoHs

Depth Grid Straps

Grid

Constructed of 14 gauge steel, galvanized.

There are 4 styles: (1) 25mm wide Depth Grid Strap, (2) 75mm wide
Depth Grid Strap, (3) 75mm wide Vertical Grid Strap and (4) 25mm wide
Door Support Rail

Grid Straps feature pattern of alternating square holes (for cage nut)
and round holes (for M5 or #12 screw) at standard 25mm centers.
Door Support Rails have round holes only.

Depth Grid Straps and Door Support Rails have mounting flanges at
either end.

Vertical Grid Straps mount flush (butt end bracket included) to other
straps for a smooth continuous mounting surface. (To achieve full
height vertical strap, 2 x 75mm Depth Grid Straps required for top and
bottom).

Sold in pairs.

Mounting Hardware

A variety of hardware options are available for the Grid System.
Square holes accommodate cage nuts listed.
Round holes accommodate M5 and #12 thread forming screws listed.

Gallery

i

ittt

Vertical Grid Straps

Fits Full Fits Full

Part Depth Part Height

Number Description Length HME Number Description Length HME

HGD14 25mm wide with mounting 222 400 HGV 35 75mm wide with flush mount 350 n/a
flange bracket

HGD15 25mm wide with mounting 323 500 HGV55 75mm wide with flush mount 550 n/a
flange bracket

HGD16 25mm wide with mounting 423 600 HGV 75 75mm wide with flush mount 750 n/a
flange bracket

HGD18 25mm wide with mounting 623 800 HGV 95 75mm wide with flush mount 950 n/a
flange bracket

HGD34 75mm wide with mounting 223 400 HGV 115 75mm wide with flush mount 1150 1400*
flange bracket

HGD35 75mm wide with mounting 323 500 HGV 135 75mm wide with flush mount 1350 1600*
flange bracket

HGD36 75mm wide with mounting 423 600 HGV 155 75mm wide with flush mount 1550 1800%
flange bracket


http://www.hammfg.com/
http://www.hammfg.com/files/products/hmegs/hmegs-asm.jpg
http://www.hammfg.com/files/products/hmegs/hmegs.jpg
http://www.hammfg.com/files/products/hmegs/hmegs-1.jpg
http://www.hammfg.com/files/products/hmegs/hmegs-2.jpg
http://www.hammfg.com/part/HGD14?referer=650
http://www.hammfg.com/part/HGD15?referer=650
http://www.hammfg.com/part/HGD16?referer=650
http://www.hammfg.com/part/HGD18?referer=650
http://www.hammfg.com/part/HGD34?referer=650
http://www.hammfg.com/part/HGD35?referer=650
http://www.hammfg.com/part/HGD36?referer=650
http://www.hammfg.com/part/HGV35?referer=650
http://www.hammfg.com/part/HGV55?referer=650
http://www.hammfg.com/part/HGV75?referer=650
http://www.hammfg.com/part/HGV95?referer=650
http://www.hammfg.com/part/HGV115?referer=650
http://www.hammfg.com/part/HGV135?referer=650
http://www.hammfg.com/part/HGV155?referer=650

75mm wide with mounting 75mm wide with flush mount

HGD38 623 800 HGV 175 1750 2000%*
flange bracket
HGV 195 75mm wide with flush mount 1950 2200%
bracket
* Requires 75mm wide Depth Grid Straps mounted in cabinet above
and below
Door Support Rails Square hole Hardware
Fits HME Part Number Description
Part Door RCNIT Cage nut insertion tool
Number Description Length Width 1421CNA25 25 of 10-32 cage nut
HGDSR4 25mm wide with mounting 248 400 1421CNA 100 100 of 10-32 cage nut
flange 1421D 25 of Panhead #10-32 Slot/Phillips x 0.5"
HGDSR5  2°Mm wide with mounting 348 500 1421CND25 25 of ¥-20 cage nut
flange . 1421CND100 100 of ¥-20 cage nut
HGDSR6 ;Smm wide with mounting 448 600 1421SP142025 25 of Panhead ¥-20 Slot/Phillips x 0.5"
ange
= E E— t' 1421CNB25 25 of M6 cage nut
mm wide with mountin
HGDSR38 e 9 648 800 1421CNB100 100 of M6 cage nut
. . . 1421CNBF100 100 of M6 front load cage nut
25mm wide with mounting «
HGDSR9 flange 748 900 1421HPM625 25 of Hex/Phillips M6 screws x 12mm
HGDSR10 25mm wide with mounting 848 1000
flange

*900mm width refers to doors on 1800mm wide cabinet

Round Hole Hardware
Part Number Description

1421HPTM525 25 of Hex/Phillips Threadrolling M5 screws x 12mm

25 of Pan/Phillips Threadrolling #12-24 screws x
0.5”

1421CT25

© 2012. Hammond Manufacturing Ltd. All rights reserved.

Data subject to change without notice.



http://www.hammfg.com/part/HGD38?referer=650
http://www.hammfg.com/part/HGV175?referer=650
http://www.hammfg.com/part/HGV195?referer=650
http://www.hammfg.com/part/HGDSR4?referer=650
http://www.hammfg.com/part/HGDSR5?referer=650
http://www.hammfg.com/part/HGDSR6?referer=650
http://www.hammfg.com/part/HGDSR8?referer=650
http://www.hammfg.com/part/HGDSR9?referer=650
http://www.hammfg.com/part/HGDSR10?referer=650
http://www.hammfg.com/part/RCNIT?referer=650
http://www.hammfg.com/part/1421CNA25?referer=650
http://www.hammfg.com/part/1421CNA100?referer=650
http://www.hammfg.com/part/1421D?referer=650
http://www.hammfg.com/part/1421CND25?referer=650
http://www.hammfg.com/part/1421CND100?referer=650
http://www.hammfg.com/part/1421SP142025?referer=650
http://www.hammfg.com/part/1421CNB25?referer=650
http://www.hammfg.com/part/1421CNB100?referer=650
http://www.hammfg.com/part/1421CNBF100?referer=650
http://www.hammfg.com/part/1421HPM625?referer=650
http://www.hammfg.com/part/1421HPTM525?referer=650
http://www.hammfg.com/part/1421CT25?referer=650

‘\ Y MOSCHIP RU g)?ﬂ%?aﬂ:wx KOMMOHEHTOB +7495668 12 70

© BMECTE Mbl CO3LLAEM BYOYLLEE B8 info@moschip.ru

O6LLecTBO C orpaHMYeHHON oTBETCTBEHHOCTBIO «MocHuny WMHH 7719860671 / KIMNM 771901001
Appec: 105318, r.Mockea, yn.LLlepbakoBckas 4.3, odmc 1107

[aHHbIn KOMMNOHEHT Ha TeppuTopun Poccuinckon depepauumn

Bbl MoxeTe npuobpectu B komnaHun MosChip.

[lnsa onepaTtuBHOro ocdopmnenus 3anpoca Bam HeobxoomMmo nepenT No faHHON CChISKe:

http://moschip.ru/get-element

Bbl MoxeTe pa3mecTuTb Y Hac 3aka3 and nboro Bawero npoekTa, 6yab To
cepuiiHoe Npomn3BOACTBO MM pa3paboTka eguHUYHOro npubopa.

B Hawem acCcCopTnMeHTe npencTasiieHbl Begywmne MmpoBblie NMPoOnN3BOANTENIN aKTUBHbIX U
NacCUBHbIX 3JTIEKTPOHHbIX KOMIMOHEHTOB.

Hawen cneumanusauuen sBnseTcs NOCTaBKa 3N1EKTPOHHOMW KOMMOHEHTHON 6a3bl
OBOWHOro Ha3HayeHus, npoaykummn Takmx npounssoantenen kak XILINX, Intel
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits,
Amphenol, Glenair.

CoTpynHMyecTBO € rnobanbHbIMU OUCTPUOLIOTOPaMN 3NEKTPOHHBIX KOMIMOHEHTOB,
npegocTraBnseT BO3MOXHOCTb 3aKa3blBaTb 1 MOfly4aTb C MEXAYHAPOOHbIX CKNaaos
npakTuyecku nobon nepeyeHb KOMNOHEHTOB B ONTUMarbHble aAnsa Bac cpoku.

Ha Bcex aTanax pa3paboTKu 1 NPOM3BOACTBA HalLW NapTHEPbI MOTYT NOMy4YnTb
KBanumunpoBaHHy NOAAEPXKY OMNbITHbIX UHXEHEPOB.

Cuctema MeHeXMeHTa KayecTBa KOMNaHum oteevaeT TpeboBaHNAM B COOTBETCTBUM C
rOCT P MCO 9001, TOCT PB 0015-002 n 3C P, 009

Odomc no pabote c OPUANHECKUMU NTULLAMMU:

105318, r.Mockea, yn.lWepbakosckaa a.3, ocdomc 1107, 1118, AL, «LUepbakoBcKkuniny»
TenedoH: +7 495 668-12-70 (MHOrokaHanbHbIN)
dakc: +7 495 668-12-70 (006.304)

E-mail: info@moschip.ru

Skype otaena npogax:
moschip.ru moschip.ru_6
moschip.ru_4 moschip.ru_9


mailto:info@moschip.ru

